Opérations avec deux fractions mixtes (G)

Nom:

Date:

Calculez chaque résultat.

52425 =
2§+5% =
5%+4% =
55415 =
5§x11—51=
52 +27 =
52 =55 =
52 +3= =
52 -5 =
1%x5% =

Note:
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Opérations avec deux fractions mixtes (G) Réponses

Nom:

Date: Note:
Calculez chaque résultat.

52+26 _22+20_ 154+80 234 117_85
4 "7 4 7 28 28 28 14 = 14
23.51_19.11_19X2_38_19
8 72 8 N 11 88 44
1 1 36 9 36 2 72 8 1
T4 T 7T 7Y T s T 7 Tl
8.2 2.6 _ B 4 _ 212 106 _ .25
9 "4 9 "4 976 54 27 27
3 5 23 16 368 92 4
R T s E v R S U V1
52+26 B 17+22 B 136+66 _ 202 101 _85
378 3 8 24 24 24 12 12
0 1 _ 85 11 _ 170 165 _ 5 _ 1
15 2 15 2 30 30 30
53+32—£+@— 714+480_ 1194_@_85_3
8 17 8 17 136 136 136 68 68
59 52_74 32 444 416 _ 28 14
13 6 13 6 78 78 78 39
1 1 5 26 130 13
Izx5 = 3X5 = 290 = 2 =%
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